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M AA XD 7,527,670 8,784,191 A 1,256,521
= 2,300,848 2,597,556 N 296,708
= 472,320 1,307,040 A834,720
= 58,226 90,839 N32,613
o= 361,752 748,704 A 386,952
Al 4,334,524 4,040,052 294 472
NEAHM &3 2,253,117 3,275,245 N 1,022,128
= 472,320 1,307,040 A834,720
& 67,740 157,480 A89,740
Al 1,713,057 1,810,725 N97,668
XNEHM =4 2,253,117 3,275,245 A 1,022,128
= 472,320 1,307,040 A834,720
= 67,740 157,480 A89,740
Al 1,713,057 1,810,725 AN97,668
THeH Al S &M 3} 354,800 339,000 15,800
Z 180,000 180,000 0
= 10,000 0 10,000
Al 164,800 159,000 5,800
202 4 H| 1,900 2,000 A 100
01 2W Ayl 1,900 2,000 A 100
mASAEAM 2463 =& 2 4&1,900,000& 1,900 2,000 A 100
203 2R =&H| 1,900 2,000 A 100
03 AlFAHR2=KRIH| 1,900 2,000 A 100
mHSHAIE &Hd3 =& 241,900,000 1,900 2,000 A 100
301 Lt A= 9,000 10,000 A 1,000
10 SALAHIE A2 9,000 10,000 A 1,000
WTAAIE MOl MRK| HE BT PN
239,000,000 9,000 10,000 A 1,000
307 QIZ2tol & 17,000 0 17,000
& 10,000 0 10,000
Al 7,000 0 7,000
02 DI2ZHAAME X 17,000 0 17,000
mA&ESAE BHEAHHIAAS 17,000, 000& 17,000 0 17,000
o= 10,000 0 10,000
Al 7,000 0 7,000
203 2,400 2,600 A 200
°c 400 600 A 200
Al 2,000 2,000 0
307 QIz2tol & 2,400 2,600 A 200
o 400 600 A 200
Al 2,000 2,000 0
02 DI2HAAMEX 2,400 2,600 A 200
mLE=Z20 M N &2 2 &2,400,000& 2,400 2,600 A 200
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Al 2,000 2,000 0
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201 LEH2HH| 10,570 11,120 A550
01 AtE22|HI 2,970 3,120 A 150
m et =Sl Z&1,900,000& 1,900 2,000 A 100
m2d=g 231,070,000 1,070 1,120 A50
03 A2 HI 7,600 8,000 2400
WIIRKE HDSH S BE Hy U B
237,600,000 7,600 8,000 2400
202 O4Hl 1,900 2,000 A 100
01 WY 1,900 2,000 A 100
mSAIHAH JRFA Z&1,900,000& 1,900 2,000 A 100
203 ¥R =&d| 4,202 0 4,202
03 AIMZ=XHSZ=EH| 4,202 0 4,202
mSAJHXNE R 4,202,000 4,202 0 4,202
301 LetEa= 1,520 1,600 A80
10 HAAHIE &= 1,520 1,600 N80
moleg T 2esl BT 24
231,520,000 1,520 1,600 A80
TEEDI|ICHZH 47,500 50,000 A2,500
203 ¥R =&H| 47,500 50,000 A2,500
03 AZFXHRFAH| 47,500 50,000 A2,500
mEXALY =& 2 &47,500,000& 47,500 50,000 22,500
St 25,825 22,125 3,700
S 4,800 0 4,800
Al 21,025 22,125 21,100
101 el 22,125 17,325 4,800
S 4,800 0 4,800
Al 17,325 17,325 0
04 JIZHMIZ2XNSE = 22,125 17,325 4,800
MEJNSLIHRA MU (& A) 4,800,000& 4,800 0 4,800
= 4,800 0 4,800
201 LEH2HH| 3,700 4,800 1,100
01 AtE22|H] 3,700 4,800 A 1,100
met=Z | Z&1,900,000& 1,900 2,000 A 100
m2d=g Z&1,800,000& 1,800 2,800 A 1,000
A DEEELF KA 365,400 1,408,800 A 1,043,400
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Al 36,540 140,880 A 104,340
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= 36,540 140,880 ~104,340
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= 5,000 5,000 0
Al 7,000 6,000 1,000
101 @121t 12,000 1,000 1,000
< 5,000 5,000 0
Al 7,000 6,000 1,000
VIS TEES TR 2,000 1,000 1,000
WAHIRASR Q11| 2 12,000,0002! 2,000 1,000 1,000
= 5,000 5,000 0
Al 7,000 6,000 1,000
MHNRe 584 S0 04,176 290,772 246,596
2 263,000 263,000 0
= 68,000 164,500 296,500
Al 713,176 863,272 150,096
WX AlE2Z X2 044,176 290,772 £246,596
2 263,000 263,000 0
< 68,000 164,500 296,500
Al 713,176 863,272 150,096
2IE 10025 H2AMY 100,000 200,000 £100,000
= 5,500 100,000 94,500
Al 94,500 100,000 75,500
402 DIZHRHROIH 100,000 200,000 100,000
= 5,500 100,000 94,500
Al 94,500 100,000 A5,500
IEEEES 100,000 200,000 £100,000
WIRE 22 217 100,000, 0002 100,000 200,000 A100,000
= 5,500 100,000 294,500
Al 94,500 100,000 75,500
RWOIZMELZT HAFIAIL DA 27,750 30,000 A2,250
= 5,500 7,500 A2,000
Al 22,250 22,500 A250
206 WEHI 4,750 5,000 A250
01 T2l 4,750 5,000 A250
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29 2 84,750,0002 4,750 5,000 A250
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01 AtR 22/t 7,450 7,700 A 250
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02 It aEx 381,104 525,200 A 144,096
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&2 3,602,746 3,592,539 10,207
= 2,037,848 2,334,556 A296,708
= 58,226 90,839 A32,613
= 226,012 426,724 A200,712
Al 1,280,660 740,420 540,240
HNEFH 3,602,746 3,592,539 10,207
= 2,037,848 2,334,556 A296,708
= 58,226 90,839 A 32,613
= 226,012 426,724 A200,712
Al 1,280,660 740,420 540,240
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= 58,226 90,839 A32,613
= 0 221,000 221,000
Al 489,613 236,000 253,613
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Al 480,613 231,800 248,813
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= 500 1,000 A 500
= 0 1,900 A 1,900
Al 4,500 2,100 2,400
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201 LEH2HH| 4,750 5,000 A 250
02 23223l 4,750 5,000 A 250
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01 Al£Hl 22,800 24,000 A 1,200
WIZX =X sFA R
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201 YEH2HH| 0 1,500 A 1,500
01 AtR 22/t 0 1,500 A 1,500
w2 Bt~ Z HI ZE0E 0 1,500 A 1,500
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= 0 50,000 A 50,000
Al 0 50,000 250,000
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Al 0 50,000 A50,000
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68,760 70,000 A 1,240
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101 el 4] 137,520 140,000 N2,480
= 68,760 70,000 A 1,240
Al 68,760 70,000 AN 1,240
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= 68,760 70,000 A 1,240
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mZE3012 HHQHE 2 &4,750,000& 4,750 5,000 2250




fA ZHAH X D
A b

RS
cHol: D8 =T CEERE]
SN - EH . S(3) - MRAY - BES Ofl & 04 o s HRz2
slgoz meNE 2,516,120 2,689,200 A 173,080
2 1,969,088 2,214,556 245,468
= 226,012 205,724 20,288
A 321,020 268,920 52,100
101 el A4l 1,707,300 2,016,900 A 309,600
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= 1,615 1,894 A279
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S 1,854 3,825 A1,971
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01 WY 20,000 50,000 A 30,000
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m5Y2Z2 ZZME JHZH|
%5695, 15,0002 695,115 590,000 105, 115
2 561,190 485,865 75,325
= 64,413 45,135 19,278




SH: FASIA D
M Al
ol DE=X (9l & 2

M- B8 S2(3H) - HRAY - BaS

[
2

=2}
S

o
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QI 2E | 71,115 68,075 3,040
el 2| 71,115 68,075 3,040
101 1A H] 58,590 56,375 2,215
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